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Q1. (Nonsingular Game Matrices)                                                         (             / 10points)  

 Consider the following game with matrix   A=
[image: image16.png]


, then find the following:

(i) the value of the game?
(ii) the optimal strategies? 

Solution:……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Q2. (Matrix Games):                                                                            (             / 10points)

Consider the following two-person zero-sum game that has the following payoff matrix 
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(i) find the value of the game
(ii) find the optimal strategy for both players?                                                   

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Q3. (The Equilibrium Theorem)                                                       (             / 10points)

Consider the following game with matrix   A=
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, then find the following:

 (i)    The value of the game? 

       (ii)    The optimal strategy for the second player?
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
Q4. (Triangular Games)                                                       (             / 10points)

Consider the following game with matrix   A=
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, then find the following:

 (i)    The value of the game? 

       (ii)    The optimal strategy for the both players?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Good Luck

Grade(                       /20 ) 

Q.1 Encircle the correct answer :

           (                 / 6 )
      [1]. Which of the following matrices is a adoubley-stoachastic matrix: 

(A)      
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     (C )    
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[2]. The following diagram that represent 5 state M. C. consist of the following classe(s):

 



A)  C1
={ 1, 3,5 } , T1={ 2 , 4 }
               B)C1={1}, C2={3}, C3={5}, T1={ 2 , 4 }
C) T1={ 1,2 , 4 } C1={ 3 }, C2={ 5 }
     D) T1={ 1,2 , 4,5 } C1={ 3 }  

[3]. The postman territory consist of two regions Mastaba and Salhob  .Suppose He never post the mail in Mastaba two days arrow , but if he post the mail in Salhob,there is a probability 0.2 that he will post mail in Mastaba in the next day .The Mathematical Model that represent the process is  :

A)  Two -state M. C. with t.p.m.            B) Two -state M. C. with t.p.m.    
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C)  Two -state M. C. with t.p.m.             D) Two -state M. C. with t.p.m.     
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Q 2.   True or False , if False give the True :                (               /4 points)

1. (   T  /  F )       The n_step t.p.m. can  be obtained from the one_step 

                             t.p.m.   

……………………………………………………………………………………………………………………………………………………………………..

……………………………………………………………………………………………………………………………………………………………………..

2.  (  T   /   F  )           If C={ 1, 2 } is closed class with 
[image: image13.wmf]4
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……………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………      
Q3. For 6 state M. C. with t. p. m.                                                          (                     /10 points)
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  (I ) Show the case for state 3

  (ii) Determine 
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  ( iii) Form  the system for  Steady-state probabilities ( if exist, don’t solve the system).


…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………….

………………………………………………………………………………………………………………………………………………………………………………………….

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………GoodLuck………………………………………………………………………………………………………………………………………………………………………………………
Good Luck



3





5





2





4





1( 4 points)


( 4 points)




















PAGE  

_1216705777.unknown

_1452834534.unknown

_1452834663.unknown

_1452834985.unknown

_1216705875.unknown

_1452834280.unknown

_1216705933.unknown

_1216705804.unknown

_1209107616.unknown

_1216705098.unknown

_1216705127.unknown

_1209112783.unknown

_1216705076.unknown

_1209112637.unknown

_1209107454.unknown

